FOLE

Alcohol Testing Program

INSTRUMENT PROCESSING SHEET
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Date In 16/5/ \_7

Date Out iﬁjéolﬂ"’l

Wship Qp/u OW/D OcMmi OEE

Qualit{}ontrol Review

")
Intake performed By _ %/ | Quality Checks Performed By <<~ | Flow Calibration Performed By
O Registration ~— | LabTempoc__ Q2.2 B Flow Calibration
| & Annual $4  Breath Tube Screen O Flow Calibration%@g
Q Return from CMI ﬁ[ Replace External O-Rings Flow Column # / VS
O Return from Enforcement Instrument Set Up Verified O s51/min-17 ‘ D
Electronics é R-Value 1% | a lsﬂmin -53mmJ 1/, 2
Q oOther ™ Flow Verification (L/s) a 30L/ﬁ'0¢,5 Iloifpyz ] d7
Visual Inspection: Flow Column # F\ TPI03 | O Rvalue Teg,. £
L Case S__L___ Handle 32mm 1% (.139-.169) | O Post Calibration Veri?r&ﬁba L/s)
O DryGas Holder _Dl< Feet 36mm ) (.156 -.190) Flow Column # Oy
_(I< Keyboard/Plug i Back/Plugs 53mm _ Qg (228 - .278) 32mm (.139 - .169)
‘CBC screws tight T Breath Hose | 103mm . (.447 - 547) 36mm (.156 - .190)
ﬁ Barometric Pressure Check 53mm (.228 - .278)
OthEE EGiEMARE  Gauge ID#_2L932 103mm (.447 - 547)
Power cord Stability Checks Maintenance Performed By
Q Printer Cable_ Simulator | Serial # Lot #/Exp O Battery Replacement
@ Other é)ltcc&'ic_ ﬁ\%y;m, 0.05 20V]01D| | @ Dry Gas Regulator Replacement
@ SO3Ue2 1-25-F || @ Breath Tube Replacement
0.08 ; 20N Ng | QD Other
Notes: Sdiolz 1-25-19 | | Quality Checks Cont. Performed By =<[”
0.20 - ~1107C | | Simulator Temperatures °C
DIZ3¥ 5 ‘?]U;; 4-1q || External Digital Therm. ID#: 20050
0.08 DGS N/A AG e lolboM w 34°C +-.2 Serial#: 5 D39 e
4-22-8 GF 34°C+-2 Serial#: SDiol3
& 34°C+-2 Serial#: O @3S 5L
Calibration Adjustment Performed By Department inspection Performed By
O cCalibration Adjustment N/A Barometric Pressure [ﬂ%[ ; 1) Gauge
Calibration Adjustment Complete 1D# 51 @({33{ [ Instrument
Barometric Pressure Gaugel01(¢  p# QT4 J7]
Simulator Serial Number | Lot Number | Expiration Mouth Alcohol Solution Lot # 52 Olly .
0.000 G, Lolo )\ N/A N/A Acetone Stock Solution Lot # S0/ —A
0.040 SDID\Y NEYVL 10-31-18 Simulator Senal-Num‘ber
010 [SDI012 [1101e0_[2-14-19 || 2 aDlolq
- . - nterferent sDhloal
0.200 SDIoW [17090 | 2-24-19 oy
- - 0.05 SDAGuA
0.300 DRIZIS | 410 | 12-19-1% | |[o.08 SDIO/3
0.080 DGS | N/A (731105089 §-5-19_||[020 DREESL
Bl Post Calibration Adjustment Stability Checks
Simulator Serial Number | Lot Number | Expiration Attachments
0.05 SDEG R | 200D |)-25-19 B Form 41 B Calibration Adjustment
0.08 SDIo/3  |oenn€ [1-a5-19 B Pre-Stability Tests @ Post-Stability Tests
0.20 DRAKEp |201 OC| 1-34- (9 Q Flow Calibration O Other
0.08 DGS N/A ACL2L 04 G-22-1K I
Notes/Suggested Service: _ T é Instrument Complies with Chapter 11D-8, FAC
?Lmbﬂ,m@d Cad Adyustm (‘_’(Uf 1 bi s ft:'jl O Instrument Does Not Comply with Chapter 11D-8, FAC
values Cl ose W NomuAdl s B Return to/Place into Evidentiary Use
QA! AC™ s [ WS O Remain Out of Evidentiary Use
R ok l'.‘,f Conduct an Agency inspection Before Evidentiary Use
I\ Thale. 0]101 s
a
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